How would the forecast for week 25 of the previous problem change if the initial forecast was 40 instead of 50? How would the forecast for week 25 change if the forecast for week 1 were assumed to be 60?
SOLUTION 

If the initial forecast is 40, the forecast for time period 25 is 46.11 when ( = 0.1 and 57.60 when ( = 0.6.  If the initial forecast is 60, the forecast for time period 25 is 47.71 when ( = 0.1 and 57.60 when ( = 0.6.  Note that when ( = 0.6, the forecast for time period 25 is 57.60 for an initial forecast of 40, 50, and 60.  This illustrates how little impact the initial forecast has on forecasts many periods into the future when the smoothing constant is higher.

